Sistemas Lineales (H)
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Sb+4c=1
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. 3b+2c+6x=2
3b+2c=—4
6b = —4

. Sa+5¢c+y=6
2a+5¢=73
3a=3

. 4b+5v+4x =26
2b+4v =14
4b = 12

Resuelva cada sistema de ecuaciones.

5.2a4+u+6y=1
6a+S5u=—17
6a=—12

6. 3a+6b-+3x = -39
5a+3b=—-10
5a=25

7. b+4x+6z=—13
2b+x=0
3b=3

8. 4dc+2v+6y=26
6¢c+3v=0
4c=0
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Sistemas Lineales (H) Respuestas

Resuelva cada sistema de ecuaciones.

3b+2c+6v=>5
Sh+de =11
bh=—1
b=—1l,c=4,y=0

. 3b+2c+6x=2
3b+2c=—4
b:—g,C:—17X:1

. Sa+5¢c+y==6
2a+5¢=73
3a=3

a € 57y

4b+5v+4x =26
2b+dv = 14

4b =12
b=3v=2x=1

5.2a+u+6y=1

6a+5u=—17
6a=—12
a=—-2u=-—1,y=1

. 3a+6b+3x = -39

S5a+3b=—10
Sa=>5
a=1,b=-5x=—-4

.b+4x+6z=-—13

2b+x=0
3b=73
b=1x=-2,z=-1

Adc+2v+6y=06

6c+3v=20
4c =0
c=0,v=0,y=1
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